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Lo.  Xfwwm21u  rni4ou~n-iuuuqgnia ( Seasonal variation : S)
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Y =  T + S + C + I

lo. rluuwavp  ( Multiplicative  Model)

Y = TxSxCxI

Y = TxSxI

n4a

Y = SXCXI

Y = TxS

Y = TxC aciudm;
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t&twlTliiJTnu7s Freehand
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2510 100

2511 110

2512 130

2513 100

2514 140

2515 150

2516 130

2517 160

I=h ,adu
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2510

2511

2512 160

2513

2514

130

160

2515 190

2516 160

2517

2519

2520

190

220

190

390

420

450

480

510

540

570

600

390/3 = 130

420,'3 = 140

450/3 = 150

480/3 = 160

510/3 = 170

540/3 = 180

570/3 = 190

600/3 = 200
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2510 '11 '12 '13 94 'I5 '16 'I7 18 '19 '20

r&rru-J7&Tnu~~ Moving - Average
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Mdl ionsMdl ions Mdl ionsMdl ions
of Oollarrof Oollarr of Dollarsof Dollars

8ylO8ylO

imoimo

60006000

Sources  Tc+b!e  15-i’.



1917 4992

1918 5541

1919 4624

1920 6981

1921 4139

1922 4647

1923 5987

1924 5306

1925 5678

1926 6214

1927 5530

1928 5385

19 29 5888

1930 4765

1 -5052
5715

5248

5256

4924

5313

5657

5733

5807

5710

5610

5346

G34

5321 >-

5098

5438

5020

5404

5796

5682

5702

5754

5392

5428

5210

5 2 6 8

5229

5212

5600

5739

5692

5728

5573
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o.d %n”7KmGns<audqn  ( Least Square Method)

A > ,.

Y = a + b X
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.. 2
z (Y - Y) = 0 ( 0 aiJ;lGaoMd;w )

zy = n:+ihx (1) *

Exy = lcx +&x2 (2)
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B Y X X2 XY ;
I Y

yaniuia&aan ~lLLU7-ildgl

2509 4 0 0 0 2.5911

2510 5 1 1 5 3.0547

?511 4 2 4 8 3.5183

2512 3 3 9 9 3.9819

2513 2 4 16 8 4.4455

2514 3 5 25 15 4.9010

2515 4 6 36 24 5.3727

2516 4 7 49 28 5.8363

2517 10 8 64 80 6.2999

2518 6 9 81 54 6.7635

2519 9 10 100 90 7.2271

mu 54 55 385 321


